Latitude 3490
Owner’s Manual

atory Model: P89G
atory Type: P89G001



Notes, cautions, and warnings

©) | NOTE: A NOTE indicates important information that helps you make better use of your product.

A CAUTION indicates either potential damage to hardware or loss of data and tells you how to avoid the problem.

A\ | WARNING: A WARNING indicates a potential for property damage, personal injury, or death.

© 2018 Dell Inc. or its subsidiaries. All rights reserved. Dell, EMC, and other trademarks are trademarks of Dell Inc. or its subsidiaries. Other trademarks
may be trademarks of their respective owners.

2018 - 01

Rev. AOO



Contents

T WOTKING ON YOUE COMPUTE ....uereiiiiisnnersesiissanssnsessessanssssssessssnssss s seassans s ee s seasaans e e £ R e R s nE £ E £ £ R R R A RE £ e e £ R R anE£neeRannnns 7
SATETY PIrECAUTIONS. ...ttt bbb bbbt bbb bt b ekt b bbbt bbb 7
RS 121 0T |0 VAN 00T USSR 7
BONAING ettt bbb bR E b bR RS h oAb £ b e R R e bR e bRt ket et n ettt eaenes 7
Electrostatic discharge — ESD PrOTECTION. ... ittt eneneas 7
ESD FIEIA SEIVICE KIT ...veviniitiieiiiseee bbb bbb bbbt b bbbttt 8
TranspOrting SENSITIVE COMPONENTS. .......ciitiiiteieie ettt ettt sttt bbbt b st s bbb ebe b ebe b et st e e ebe st ebenbenen 9
Before Working iNSIAE YOUI COMPUTET ........c.euiiitiieieiit itttk b ettt bbbt en ket enanes 9
After WOrking iNSIAE YOUI COMPULET ........viiieerteietesie ettt ettt te st se s aetestesessese s esesse e ese e esesbesessesenseseesesensessesens 9
2 Removing and installing COMPONENTS.........ccciiiiiiiiiiiiiiicii e sem s e r s e e e s sa s se s s s s as s aa s e msmmmsmmssns s nanaens 1"
L TeTe )0 0T aT=T a0 (=T I (0o SRS M
SCIEW SIZE lIST.. ettt b bbb s e b bt E b b1 E b e b b st b ket b bbbt M
SIM ErY — OPTIONAL c...viivetiietictet ettt ettt sttt ettt e b te st ese s b e s e e b e s et e s e be s b e s e e b eneebeneebe b ebesrereerene b e e ere e e 12
Removing the SIM tray — WWAN MOEIS........coiiiiieee e 12
Installing the SIM tray — WWAN MOGEIS.......cccveiiiiiiriiiiiiee ettt ettt ss et saenesaenens 13
SD G — OPTIONAL. ...ttt ettt et b et et be bbb e bR e bt bbb be b et et et e bbb et e re b re et re e 13
Removing the SD card — WWAN MOGEIS.........ccooiiiiiiiitiec et 13
Installing the SD card — WWAN MOGEIS.......ccviiiiiieiieiset ettt te s e ssesessenssaeneas 13
BASE COVET ...tttk £t h et £ £ b E et £ b e bRt £ heE Rt £ Rk R £ b bRt £ bRt b bRttt b Rt e 13
REMOVING ThE DBSE COVET ......cviiiiiiii bbbttt bkttt ennas 13
INSTAIING DASE COVET ....ciuiiiiiiiiieiiiete ettt ettt sttt et ettt e s b e e et et e be b ese s b e sena e e et e s ene st ese s enens 16

TS A=) VTP 16
LoV el o= | =] Y2 SRS SSRSN 16
INSTAIING TNE DATLEIY .. cuiiiiiiiiicieee bttt ettt e bbb bt e bt eb et ebe b et e b e s e et e et s ene s 17
WWLAN CBIQ. ..tttk s e b8 €24 h a8 £ 44 e b a8 £t 42 e b 2Rt 4 £ b e b e Rt e e e b e b e s e e e e b e b es et e e ebes et aeabereneannas 17
ReMOVING the WLAN CAIU. ...ttt e et e et te et et e s e ee e st eee e te e areneereeens 17
INSTAlING ThE WLAN CBIG.....ecviieiieeeieee ettt bbb bbb et et e ettt b se b ene b e e 18
WWAN CArd — OPTIONGL ....viviiviiiiti ittt b ettt e bt e st s e e b et s e b et e te bt e et et e et et e be b ebe st etesbesaabese 18
ReMOVING the WWAN CAIQ. ...ttt e ettt ettt et e et e e et eae e ene e eneneas 18
INSTAllING ThE WWAN CAIG.....cuiiiiiiiiieiiieesie ettt ettt st s et ese s ese e s et ete st esesbesesbe e nsessenenaenen 19
RV oo o OSSOSO USSR 19
REMOVING VGA DOIT. ...ttt ettt ettt ettt ne et et s ete st e s e e er e e et eae e ene s 19
INSTAIING VGA DOGIT. ...ttt sttt et e ese b e se s b e e et et ebe st ese st eseese e ebessesesaanens 20

[V 1= a T TRV A/ o o (U= TSR 20
Removing the MEMOIY MOAUIE.........cv ittt ee ettt e e en e et ene s 20
INstalling the MEMONY MOAUIE........civiiiiieieee ettt sttt ettt et st ese b e se s e e nte e enesaenens 21
POWET DUTTON DOGIT. ...tttk ek s et b btttk e bt et b et et b et n e et et ne e e 22
Removing POWET DUTTON DOAI. ... .c.iieiiieee ettt ettt ee et eae e ene e ene e 22
INstalling POWET DUTTON OB, ........iieiiiciice ettt sttt et b ss e s anas 22
HEAT SINK .ttt h e b et e b bR £ R SRR £ R R R £ 4R R R R £ AR AR e R £ £ b e R R et Rk e bt et bttt aerene s 23
REMOVING The NEALTSINK. ...ttt ettt e ettt et e et eee e et et e e e ene e 23
INSTAIING T NEATSINK.....i.vetiiciicicce ettt bbbttt te b e s et e et e et tete b ene st esees 24

|



L1 (<T =1 TSR 24

REMOVING T SYSTEIM TN, ettt ettt et ee et ee e st e ee e e te e et e e eneeaeneenens 24
INSTAIING T SYSTEIM TAN.....iiiiiceic bbbttt st e bt e be b e te b e se st e s e et s ene s ese b enenen 25
SATA SOlid STALE DIIVE (SSD)..uiuiiviiiiiiieriiteietee ettt sttt et et e st e s e st e st et e b et e s b esesaessebe s abe s esessesesressarennas 26
REMOVING The SSD CAIQ. ...ttt e et ea e st ee s e e R e e et e ee e st eeeseeeeneere s aneeeereenenn 26
INSTAIING TE SSD CAIG....viviiviiieieieeiee ettt ettt s et s b et et ebe b e be st e s e et e e et et ebe b ete b esenbene e e 27
[ Eo e I [ OO SO TSR 27
Removing the hard diSK AV ..o 27
INSalliNg the NArd AISK AMVE .....eviiiicie ettt sttt st e s et eseebe e be e esenaens 29
INPUE-OULPUL DOBITA... .ttt ettt et bbb bbb bt e b eb e b e be st e s e b e b et et et et ebe st ese st eseebe s ebe s ene e 30
Removing the INPUL-OULPUL DOBI......c.ciiiiieiiiiiiici ettt 30
Installing the INPUE-OULPUL DOGI.......cviiiiiiiice ettt sb et ebe et et e e e nesaeneenens 31
FINGErprint reader — OPTIONAL.......c.c ittt b bbbt b et b ettt b bbbt et neenes 31
RemOoVvINg the FINGEIPIINT FEATET ...ttt 31
INstalling the fINGEIPIINT FEAUET.........ciieece ettt sttt st se st eseebeseete e esenaens 33
(o] [l ar=1 I ol 11 =] YA 33
RemMOoVINg the COINCEII DATLEIY ... .ttt ettt n e 33
INSTaAllING thE COINCEI DALMY ... iiiiiiiiciiee ettt ettt bbb e b a b s s e ene e 34
SPPBAKETS. ...ttt et L e oLt b et e b oAb b e Re bR e b oA e e b bbb Re bt e e b s e bt ebe b ebe b e re e b b ete b ebe st erenrs 34
REMOVING ThE SPEEKETS. ....c.iiviiiictt bbbt 34
INSTAIING TNE SPEAKETS. .....evietiieet ettt b ettt et e b b e s e e b e se e b e e et et e b s s esesbenesbesenbe e esenaens 35
o ]UTe] al )= To I o= o T= IO PSP 35
ReMOVING the TOUCNPAA. ..ot 35
INSTAllING ThE TOUCHPAG. ... ..iiiiiiiiiiee et ettt ettt b s et se b e eb e st saene e 37
DiSPIAY BSSEIMDIY . .cvvitiiiiiititete ettt et bbb bbb bbb b e bR bbb b Re bR b s s bbbt ebe b ne et e ere s 38
Removing the diSplay @SSEMDIY........cciiiiciic bbb 38
INstalling the diSPlay @SSEMDIY.......ccciieiceicee ettt ettt e s e sseseeaess e et s e sserennenes 39
NS (<T a1 o oY= (o RO 40
REMOVING SYSTEM DOBIT. ..ottt ettt 40
INSTalliNG the SYSTEM DOGIT......c.ciieiiiiiciece ettt s ettt e bt ese b ese b esenbe e esenaens 45
DL N o o OO 46
REMOVING The DC=IN PO ...ttt ettt e et e et et e e e st eae e ene st e reneeneeens 46
Ity [T ale TR u oIl B Lo N o e ] F TP 46
DiSPIAY NINGE COVET ...ttt bbbt b e bt b st bkt b e b e bt e b st btk et et st e bt b e st b e 47
Removing diSplay NINGE COVET ...ttt te et e st eseeseeee st ene e ene e 47
INStalling diSPIAY NINGE COVET ...uiiiiiiiiieieiee et b et ettt sttt e st e et st esesbenenes 48
LD BEZEL ..ttt E et £ R R R R R R Rt E bR £t R Rt bbbt b bt ennas 48
REMOVING the LCD DEZEL.....c.i ittt ettt 48
INSTAIING ThE LCD DEZEL...... ettt ettt ettt et e st et e st e seetes s e et e s e s erennens 49
(OF 0 1S = OO SO USROS 49
REMOVING ThE CAIMEIA. ...ttt ettt e st et E et e st ee e st e e st e ee e e te e eneaneneeeeneaneneas 49
INSTAIING T CAMETA.....c.iiiiiciei ettt bbb E et s et e e b et e be st e s e et e st ebe e e te b e te s ene e e 50
LD PANEL... ettt h bR bR AR bR £ b bR et b R et bRt e bbb e 51
REMOVING T LD PANEL....c.iiiiitiiiisieic ettt bbbttt 51
INSTAIING ThE LECD PANEL.... ittt sttt s ettt e s e s e e b e st e be st et et et e nsesesseseaneneas 53
EDP 8NA CAMEIA CADIE. ...ttt e bbbt e bt s h bbbt ekt e b eb e b e st ekt et e et e nbens 93
Removing the €DP and CamMEra CADIE...........co it 53



Installing the eDP and CamEra CaDIE..........co i et 94

[ D Yo = SRS 55
REMOVING the LED NINQGE...uiiiiieiiieiiee ettt ettt ettt s b e s e be et et e s e st e s e sseneebeneese e enennns 55
INSTAIING ThE LD NINGE....ttiititeieiii ettt b bttt b ettt b ettt et bt ee et n e 56

=g L] OSSPSR 56
REMOVING The PAIMIIEST.......cuiici ettt bbb e st et et ebe st ese st enessese et e e esenanns 56

3 Technical SPeCIfiCAtIONS. ... .ccccurerriiiiiisrrrr iR R mn s 58

PrOCESSOT ..ttt bbb bbbkt R ke E b E R E b bR bbbttt n s 58

1V 1T gV YRR 59

STOTAgE SPECITICATIONS. 1.ttt ettt ettt st b et b et et E et e e e b et e e b b e st e e ek e R e st et e b e b e s e s e et e s et eneber et annas 59

AUTIO SPECITICATIONS. .....veeiee bbb b bbb bbbt b bbbt 59

VAo ol o =Toll o= Y [o T TSSO 60

WWEDCAM SPECITICATIONS. ...viuvitivitiiei ettt bbbt b e b et b b e bt e b s e b s e et b ebe b ebe st eb e st e e ebe b ebe e 60

WIrEA COMMIUNICATIONS. ...ttt b bbb bbbt b bbbttt bttt en bt 60

WIrel@SS COMMIUNICATIONS ...ttt bbbttt bbb bbbt b bbbt b et et e ettt e bt 61

POITS BNA CONNMECTONS. .. uiuiitiietieiett ettt ettt ettt e st s et e b e b et e s b e s s et e s s e b e s et e b et e e b eseebe st e be s et et ebe st essebessete s atenns 66

DISPIAY SPECITICATIONS. 1. vtttk h bbbt b bt b ekttt b ket n ket n ket en e 66

Keyboards HOt KeY DEFINITIONS. .......oiiiiice ettt ettt ettt e et e e et e et s st e et eerteste e st e eraeeteeees 67
FUNCTION SNOIT CUL KBYS.. vttt ettt ettt ettt et e et e et e et b e e bt et e et b e st e et e e st e sbe et esstesreesteaseas 68

TOUCKIPAA. ..ttt bbbkt b ket H bt E bkt b ke st b kbbb eh et e bbbt 68

BatTEry SPECITICATIONS. ... .. ctiietiiiciisee ettt se bt t et st e be b e se et ese et et ese st ese b ere et e e ete s enentene s 69

ATBPTE OPTIONS....vtvivietesetet ettt ettt ettt et e s b s e et et et e s et e ss e s e et es s e be s s e ket et e b e s e ebes s e b e st et ea b e R et et e et e s e e b en s be st e te e te et ereerens 69

SYSTEM AIMENSIONS ..ottt ettt e e e et e et e ete e teeaeeeteeteeseeeaeeeeeseeeseeeeesseeseeeeaneeeseenseeneeereenssaneesseens 70

RS T=T oW 1Yo o111 1 SRS 70

OPEratiNg CONAITIONS ....viveiiietetet ettt ettt b e e bbbt b e bt b e bRt e bbbt b e bt b et re et ebene e 70

4 Technology and COMPONENTS.......cc.cemeemeemririiiiiriiriireeressssssssssssssassasssmssmmeesesreeemereereeressessasssassssassassansnmnnnmennennes 72

LY T =1 o 1= SRR 72

DIDRA. ..ttt R E R R £ h R £ h R £ R R SR £ bR SRR E R R £ £ R R R £ bR R et ekt b e 72
DD = =SSR 72
V1T gL T YA =l ) =T RT 73

USB TEATUMES. ....euietitete sttt ettt sttt ettt be s b ese s b e st et et et e s et e e 2 e s e e b e s s e b e st e b e s ek e e e eb e s b ese e b ess et e s et et eseebese st eneebessebe b etesrens 73
USB 3.0/USB 3.1 Gen 1 (SUPerSPeed USB) ... 74
0= RSSO 74
JAY o] o] 1102 14 To] TSP 75
COMPATIDIITY ...ttt bbb bbbt b et bbb 75
Advantages of Displayport OVEr USB TYPE-C.....oiiiiiieiiieie ettt et snene s 76

HDMI T ettt b bbbt b bR £ e b h £ b R Rt £ b bR £ b bR e b bRt b bRttt e e 76
HIDMI 114 FRETUMES. .. v evvettettettetiettettete ettt ettt e et e st esa e st esaese et e eseeseessessessesseseessessessessessasseseesseseeseeseessessansaseessanaaneeseaneanen 76
AQVANTAGES OF HDIMIL...eiiiiiiieeee ettt ettt b s e b et e e be b e se st e sesb e e et e eese st eressenees 76

USB TYPE-C ittt ettt b1t h 41t e b et oA et oA e b s s a4 st Re bR e bR e bt e bt e bt e bt et et e e b et be b te b re e 77
JAN L gt =AY, ol [T PSPPI 77
O R oY= = (Y= YRR 77
USB TYPE-C @Nd USB 3.1ttt sttt b e bbbt bbb e et e bt te b be b se b 77

5 SyStem SELUP OPLIONS.....coiimiiiiiiiiiiiii e sesssssssss s s s snmsn e e e e e s e e e e s ee s re s sasse s s s s snssansamsnmmnnme s r e e e enenenernesras sansnns 78



BOOT SEQUENCE. ...ttt ettt b1 e e b e b ebe b e R e bR e e b b e b et et e bt et s bbb be b ae bt e a s re e 78

N EE AV 0T LT TN ()Y TSSO 79
SYSTEM SETUD OVEINVIEW .. .veiieteiieiesieieste ettt ettt ettt te et et et e s b et e e be s et e b e Ee b e s e et et e et st et b ebe b e be st e s e ebe e ebe s abe b ene e 79
ACCESSING SYSTEIM SETUP ..t tuttteterieeetete ettt ettt ettt e b e b e b e st e b b e s et e e b e b et ee ek e R et ee ek b et et et be et enebe s et antas 79
(GENEIAI SCIEEN OPTIONS. ...ttt ettt b e bbbt b bt b bbbt bbbkt b et 79
System ConfiIUration SCrEEN OPTIONS. . ...viiieeiieieristetste ettt re sttt ese st et et e re b eseese st ase s etess et e ssesease st asessanessaressens 80
VB0 SCIEEN OITIONS. . .eviueiriieteitete sttt ettt ete st et se et e b et ete st ese st ese et e s ebe b ebe s b ese b ess et e s et e sbebesbere st e s s et e s ebe st ene st ese st esnns 82
=T oTU YA Te (Y= o e o[ ) 1 TSRS 82
SECUIE BOOT SCIEEN OPTIONS. ... i cviiiitiicieiett ettt ettt ettt ae e be e e be s et e b et e e b e st e se st e te b et e saeseeae st ebe st ane st erennens 84
Intel Software Guard EXtENSIONS SCrEEN OPTIONS. ......viviiiiricte ettt b e sb st s re e 85
PErformanCe SCrEEN OPTIONS. .....ciiiriieiii ittt stttk b bbbt b bbb bkttt b ettt en bt an et 85
Power ManagemENT SCrEEN OPTIONS.......cirieirieiitetsieriete et stere ettt tesaesesaesesseseeseeesessesessesesseseasessesessesessesessesessensans 86
POST DENaVIOr SCIEEN OPTIONS. ... ..iviiviiicieictitee ettt ettt ettt e st s e et et et et et e sb et s et e s s et e st ebe b ete st ebesaessarens 87
Virtualization SUPPOIT SCIEEN OPTIONS. ......cuiiriieiiririsiet stttk ekttt ekttt 88
= e (== o e o110 ) 1 OSSR 88
MaINTENANCE SCIEEN OPTIONS. ....viviiiiiitiietet ettt b et b e be b e be b be s b e se et e s et e b ebe st ebe b e s e ebe s ebe b ebe b erearas 89
SYSTEM (OGS SCIEEN OPTIONS. ...tttk b ettt b bbbt b et bbbttt b bt b et 89
SUPPOITASSIST SYSTEM FESOIUTION. ... veviiiiieiitiiteiete ettt ettt st et ebe et et et et e s e sb et e abe s ebe s etesbesesbeseene e ene s 89
Verifying system memory in system Setup BIOS.........oooiiiiice e 89
Updating the BIOS iIN WINAOWS ......c.iriiiieiiiiiei ettt sttt 90
Updating BIOS on systems with bitlocker €nabled............cccvieiieiiiiiiiiie e 90
Updating your system BIOS using @ USB flash Arive..........oociiiieiieccee e 90
Updating the Dell BIOS in Linux and UDUNTU ENVIFONMENTS. ......cciiiiiiieieeeiceee e N
SYSTEM AN SETUD PASSWOIT. . ..eiuietiietisiesieieteie ettt sttt etesses e e te st e te s etessesesseseeseseete s esessesesseseeseseesesasensesessenesserens N
Assigning a system password and SETUD PASSWOIT.......ccueuruiirririeerieierieesie sttt sttt st et sbe b eenes 91
Deleting or changing an existing system and or SEtUD PASSWOIT......c.couriivieiiiriieiiniieei e 92

LSS o 01 (S 93
Operating SYSTEM CONTIGUIATIONS. .....cut vttt ettt ettt ettt ettt bt e bttt e b ettt eb s e e b ebere et enenas 93
DOWNIOBAING AIIVETS.....titeteiiiietet ettt b bttt bkt e bbbkttt b bttt b ettt b s 93
(@] Tl 1= T= ] e | Y= OSSR 93
SEIIAI IO AIIVET ..tttk b et h et b bt £ b e bt e b e b et e e b e b e st e e b b st e b e b e st ettt n e e e nen s 94
GraphiCs CONTIONET AFIVET......cuiiiiiiiet etttk b ettt eb e 94
USB GIVETS. ...ttt h bbb b e bbb bt h e bRt bbbt bbbt 94
INETWOTK AFIVETS ..ottt b ke b bbb bbbt b bbbt b ettt b et e 95
REAITEK AUTIO. ...ttt bbbt b ekt b bbbt bbb 95
SEIIBI ATA AIIVETS. ...ttt bbb bbbt bbb bbbt bbbt bbb 95
TS el U LAY Ao [ HIV LT =TT SRRSO 96
2oLV o)L= oo T R 97
Enhanced Pre-Boot System Assessment — ePSA diagNOSTICS......cvvieiieiiiiiiiieseieseisesisese e 97
RUNNING The EPSA QIAGNOSTICS. ....cue ittt ettt b ettt ettt e 97
Testing MEMOIY USING EPSA . ...ttt ee e st et e e b et et e ee et e eee st eeeneaee e ereneanenens 97
REAI TIME CIOCK TESET ...ttt bbb bbbt b bbbt bbbt b ettt n et 98
8 203 e 1T T = | 99



Working on your computer

Topics:

Safety precautions
Before working inside your computer
After working inside your computer

Safety precautions

The safety precautions chapter details the primary steps to be taken before performing any disassembly instructions.

Observe the following safety precautions before you perform any installation or break/fix procedures involving disassembly or reassembly:

Turn off the system and all attached peripherals.

Disconnect the system and all attached peripherals from AC power.

Disconnect all network cables, telephone, and telecommunications lines from the system.

Use an ESD field service kit when working inside any notebook to avoid electrostatic discharge (ESD) damage.
After removing any system component, carefully place the removed component on an anti-static mat.

Wear shoes with non-conductive rubber soles to reduce the chance of getting electrocuted.

Standby power

Dell products with standby power must be unplugged before you open the case. Systems that incorporate standby power are essentially
powered while turned off. The internal power enables the system to be remotely turned on (wake on LAN) and suspended into a sleep
mode and has other advanced power management features.

Unplugging, pressing and holding the power button for 15 seconds should discharge residual power in the system board, notebooks

Bonding

Bonding is a method for connecting two or more grounding conductors to the same electrical potential. This is done through the use of a
field service electrostatic discharge (ESD) kit. When connecting a bonding wire, ensure that it is connected to bare metal and never to a
painted or non-metal surface. The wrist strap should be secure and in full contact with your skin, and ensure that you remove all jewelry
such as watches, bracelets, or rings prior to bonding yourself and the equipment.

Electrostatic discharge — ESD protection

ESD is a major concern when you handle electronic components, especially sensitive components such as expansion cards, processors,
memory DIMMSs, and system boards. Very slight charges can damage circuits in ways that may not be obvious, such as intermittent
problems or a shortened product life span. As the industry pushes for lower power requirements and increased density, ESD protection is an
increasing concern.

Due to the increased density of semiconductors used in recent Dell products, the sensitivity to static damage is now higher than in previous
Dell products. For this reason, some previously approved methods of handling parts are no longer applicable.



Two recognized types of ESD damage are catastrophic and intermittent failures.

Catastrophic — Catastrophic failures represent approximately 20 percent of ESD-related failures. The damage causes an immediate and
complete loss of device functionality. An example of catastrophic failure is a memory DIMM that has received a static shock and
immediately generates a "No POST/No Video" symptom with a beep code emitted for missing or nonfunctional memory.

Intermittent — Intermittent failures represent approximately 80 percent of ESD-related failures. The high rate of intermittent failures
means that most of the time when damage occurs, it is not immediately recognizable. The DIMM receives a static shock, but the
tracing is merely weakened and does not immediately produce outward symptoms related to the damage. The weakened trace may
take weeks or months to melt, and in the meantime may cause degradation of memory integrity, intermittent memory errors, etc.

The more difficult type of damage to recognize and troubleshoot is the intermittent (also called latent or "walking wounded") failure.

Perform the following steps to prevent ESD damage:

Use a wired ESD wrist strap that is properly grounded. The use of wireless anti-static straps is no longer allowed; they do not provide
adequate protection. Touching the chassis before handling parts does not ensure adequate ESD protection on parts with increased
sensitivity to ESD damage.

Handle all static-sensitive components in a static-safe area. If possible, use anti-static floor pads and workbench pads.

When unpacking a static-sensitive component from its shipping carton, do not remove the component from the anti-static packing
material until you are ready to install the component. Before unwrapping the anti-static packaging, ensure that you discharge static
electricity from your body.

Before transporting a static-sensitive component, place it in an anti-static container or packaging.

ESD field service kit

The unmonitored Field Service kit is the most commonly used service kit. Each Field Service kit includes three main components: anti-static
mat, wrist strap, and bonding wire.

Components of an ESD field service kit

The components of an ESD field service kit are:

Anti-Static Mat — The anti-static mat is dissipative and parts can be placed on it during service procedures. When using an anti-static
mat, your wrist strap should be snug and the bonding wire should be connected to the mat and to any bare metal on the system being
worked on. Once deployed properly, service parts can be removed from the ESD bag and placed directly on the mat. ESD-sensitive
items are safe in your hand, on the ESD mat, in the system, or inside a bag.

Wrist Strap and Bonding Wire — The wrist strap and bonding wire can be either directly connected between your wrist and bare metal
on the hardware if the ESD mat is not required, or connected to the anti-static mat to protect hardware that is temporarily placed on
the mat. The physical connection of the wrist strap and bonding wire between your skin, the ESD mat, and the hardware is known as
bonding. Use only Field Service kits with a wrist strap, mat, and bonding wire. Never use wireless wrist straps. Always be aware that the
internal wires of a wrist strap are prone to damage from normal wear and tear, and must be checked regularly with a wrist strap tester
in order to avoid accidental ESD hardware damage. It is recommended to test the wrist strap and bonding wire at least once per week.

ESD Wrist Strap Tester — The wires inside of an ESD strap are prone to damage over time. When using an unmonitored kit, it is a best
practice to regularly test the strap prior to each service call, and at a minimum, test once per week. A wrist strap tester is the best
method for doing this test. If you do not have your own wrist strap tester, check with your regional office to find out if they have one.
To perform the test, plug the wrist-strap's bonding-wire into the tester while it is strapped to your wrist and push the button to test. A
green LED is lit if the test is successful; a red LED is lit and an alarm sounds if the test fails.

Insulator Elements — It is critical to keep ESD sensitive devices, such as plastic heat sink casings, away from internal parts that are
insulators and often highly charged.

Working Environment — Before deploying the ESD Field Service kit, assess the situation at the customer location. For example,
deploying the kit for a server environment is different than for a desktop or portable environment. Servers are typically installed in a rack
within a data center; desktops or portables are typically placed on office desks or cubicles. Always look for a large open flat work area
that is free of clutter and large enough to deploy the ESD kit with additional space to accommodate the type of system that is being
repaired. The workspace should also be free of insulators that can cause an ESD event. On the work area, insulators such as Styrofoam
and other plastics should always be moved at least 12 inches or 30 centimeters away from sensitive parts before physically handling any
hardware components

ESD Packaging — All ESD-sensitive devices must be shipped and received in static-safe packaging. Metal, static-shielded bags are
preferred. However, you should always return the damaged part using the same ESD bag and packaging that the new part arrived in.
The ESD bag should be folded over and taped shut and all the same foam packing material should be used in the original box that the
new part arrived in. ESD-sensitive devices should be removed from packaging only at an ESD-protected work surface, and parts should



never be placed on top of the ESD bag because only the inside of the bag is shielded. Always place parts in your hand, on the ESD mat,
in the system, or inside an anti-static bag.

Transporting Sensitive Components — \When transporting ESD sensitive components such as replacement parts or parts to be
returned to Dell, it is critical to place these parts in anti-static bags for safe transport.

ESD protection summary

It is recommended that all field service technicians use the traditional wired ESD grounding wrist strap and protective anti-static mat at all
times when servicing Dell products. In addition, it is critical that technicians keep sensitive parts separate from all insulator parts while
performing service and that they use anti-static bags for transporting sensitive components.

Transporting sensitive components

When transporting ESD sensitive components such as replacement parts or parts to be returned to Dell, it is critical to place these parts in
anti-static bags for safe transport.

Lifting equipment

Adhere to the following guidelines when lifting heavy weight equipment:
Do not lift greater than 50 pounds. Always obtain additional resources or use a mechanical lifting device.

Get a firm balanced footing. Keep your feet apart for a stable base, and point your toes out.

Tighten stomach muscles. Abdominal muscles support your spine when you lift, offsetting the force of the load.
Lift with your legs, not your back.

Keep the load close. The closer it is to your spine, the less force it exerts on your back.

g D NN -

Keep your back upright, whether lifting or setting down the load. Do not add the weight of your body to the load. Avoid twisting your
body and back.

6  Follow the same techniques in reverse to set the load down.

Before working inside your computer

Ensure that your work surface is flat and clean to prevent the computer cover from being scratched.
Turn off your computer.
If the computer is connected to a docking device (docked), undock it.

DN -

Disconnect all network cables from the computer (if available).

If your computer has an RJ45 port, disconnect the network cable by first unplugging the cable from your
computer.

5  Disconnect your computer and all attached devices from their electrical outlets.
Open the display.
7 Press and hold the power button for few seconds, to ground the system board.

To guard against electrical shock unplug your computer from the electrical outlet before performing Step # 8.

To avoid electrostatic discharge, ground yourself by using a wrist grounding strap or by periodically touching an
unpainted metal surface at the same time as touching a connector on the back of the computer.

8 Remove any installed ExpressCards or Smart Cards from the appropriate slots.

After working inside your computer

After you complete any replacement procedure, ensure you connect any external devices, cards, and cables before turning on your
computer.



DN -

To avoid damage to the computer, use only the battery designed for this particular Dell computer. Do not use batteries
designed for other Dell computers.

Replace the battery.
Replace the base cover.

Connect any external devices, such as a port replicator or media base, and replace any cards, such as an ExpressCard.
Connect any telephone or network cables to your computer.

To connect a network cable, first plug the cable into the network device and then plug it into the
computer.

Connect your computer and all attached devices to their electrical outlets.
Turn on your computer.



2

Removing and installing components

This section provides detailed information on how to remove or install the components from your computer.

Recommended tools

The procedures in this document require the following tools:

Phillips #0 screwdriver
Phillips #1 screwdriver
Plastic scribe

©) | NOTE: The #0 screw driver is for screws 0-1and the #1 screw driver is for screws 2-4

Screw size list

Table 1. Screw size list

Component M2x2 | M2x3 M2x4 M25x2.5 | M2.5x5 M2.0x5.5 | M3x3 20D
0.8+2.2LK

Hinge Bracket L + R to LCD cover 10

LCD Module to LCD cover 4

TP DOME SUPP BRK to palmrest |2

CLICKPCB_SUPP_BRK_ASSY to |4
palmrest

Thermal (GPU) to System board 3
(For DSC)

Type C BRK to System board 1

HDD BRK to HDD Module 4

Dc-IN to palmrest 1

System board to palmrest 1

Power board to palmrest 1

VGA board to palmrest 2

WWAN board to palmrest 1

|0 board to palmrest 2




Hinge Bracket L + R to palmrest 5

HDD BRK to palmrest 4
FAN to palmrest 2

Battery to palmrest 5

WLAN module to System board 1

WWAN module to WWAN board 1

SSD to palmrest

FP BRK to palmrest 1

Base to hinge plate L+R to
palmrest

SIM tray — optional

SIM tray is an optional component. You will see a SIM tray only in systems shipped with a WWAN card.

Removing the SIM tray — WWAN models

1 Follow the procedure Before working inside your computer
2 Open the SIM card slot cover on the right side of the system.

-
N

3 Insert the tip of a paperclip into the hole of the SIM tray slot and then pull out and remove the SIM tray.

2"



Installing the SIM tray - WWAN models

1 Align and push the SIM tray back into the SIM tray slot.
2 Close the SIM card slot cover.
& Follow the procedure in After working inside your computer

SD card - optional

SD card is an optional component. You will see a SD card only in systems shipped with a WWAN card.

Removing the SD card - WWAN models

1 Follow the procedure Before working inside your computer
2 Push the SD card so that the SD card pops out from its slot, and then remove it from the system.

"

Installing the SD card - WWAN models

1 Push the SD card into its slot until the SD card gets secured with a click sound.
2 Follow the procedure in After working inside your computer

Base Cover

Removing the base cover

1 Follow the procedure in Before working inside your computer
2 Remove the SIM tray (WWAN models):
3 Toremove the base cover:
a Loosen the 10 M2.5xL8.5 captive screws that secure the base cover to the computer .



14

b Pry the base cover from the upper right edge [1] and continue to pry the outer edges of the base cover in clockwise direction

[2].

@l NOTE: You must use a plastic scribe to pry the base cover from the edge [1].

Removing and installing components



4

Lift the base cover away from the computer.

Removing and installing components

1



Installing base cover

Align the base cover with the screw holders on the computer.

Press the edges of the cover until it clicks into place.

Tighten the 10 M2.5xL8.5 screws to secure the base cover to the computer.
Install the SIM tray (WWAN models).

Follow the procedure in After working inside your computer

Battery

o D NN -

Removing battery

1 Follow the procedure in Before working inside your computer.
2 Remove the:

a Removing the SIM tray — WWAN models
b base cover

3 Toremove the battery:
a Disconnect the battery cable from the connector on the system board .

b Remove the 5 M2x3 screws that secure the battery to the computer [1].

@l NOTE: The 3-cell battery has only 3 screws.
c Lift the battery away from the computer [2].



Installing the battery

1 Insert the battery into the slot on the computer.
2 Replace the 5 M2x3 screws to secure the battery to the computer.

@l NOTE: The 3-cell battery has only 3 screws.
Connect the battery cable to the connector on the system board.
4 |Install the:

a base cover
b SIM tray (WWAN models)
5  Follow the procedure in After working inside your computer.

WLAN Card

Removing the WLAN card

1 Follow the procedure in Before working inside your computer.
2 Remove the:
a Removing the SIM tray — WWAN models
b base cover
c battery
& Toremove the WLAN card:
a Remove the M2x3 screw that secures the WLAN bracket to the system [1].
b Slightly pull the bracket and lift it off the WLAN card [2].
¢ Disconnect the WLAN antenna cables from the connectors on the WLAN card [3].



d  Pull the WLAN card from its connector on the system board [4].

Installing the WLAN card

6

Insert the WLAN card into its connector on the system board.

Route the antenna cables on the wireless card slot and secure the antennas underneath the wireless card, and then connect the two
antenna cables to the connectors on the WLAN card.

@l NOTE: Connect the MAIN antenna (white) to the MAIN pin and AUX antenna (black) to the AUX pin, respectively.
Replace the WLAN card holder on the WLAN card.

Tighten the M2x3 screw to secure the WLAN card and card holder to the system board.

Install the:

a battery
b base cover
¢ SIM tray (WWAN models)

Follow the procedure in After working inside your computer

WWAN card - optional

Removing the WWAN card

1
2

Follow the procedure in Before working inside your computer.
Remove the:

a Removing the SIM tray — WWAN models

b base cover

c battery



3  Toremove the WWAN card:

a Remove the M2x3 screw that secures the WWAN metal bracket to the system [1] and then lift and remove the metal bracket off
the WWAN card [2].

b Disconnect the two antenna cables from the WWAN card [3].
Pull out the WWAN card from its connector on the system board [4].

Installing the WWAN card

1 Insert the WWAN card into its connector on the system board.
2 Connect the two antenna cables to the WWAN card.

(| NOTE: The WWAN antennas should be routed underneath the display cable and above the VGA daughter board cable, and
then secured with the adhesive tape on the palm-rest.

Replace the metal bracket on the WWAN.
4 Tighten the M2x3 screw to secure the WWAN card and bracket to the system board.
Install the:

a battery
b base cover
c Installing the SIM tray — WWAN models
6  Follow the procedure in After working inside your computer

VGA board

Removing VGA board

1 Follow the procedure in Before working inside your computer.
2 Remove the:
a base cover
b battery
3 Toremove the VGA board:
a Disconnect the VGA daughter board cable from the VGA daughter board [1].



b Remove the two M2x3 screws that secure the VGA board to the system [2].
¢ Lift the VGA board from the system [3].

Installing VGA board

DNy -

5

Place the VGA board in its slot on the system.

Replace the two M2x3 screws to secure the VGA board to the system.
Connect the VGA daughter board cable to the VGA daughter board.
Install the:

a battery
b base cover

Follow the procedure in After working inside your computer.

Memory Module

Removing the memory module

1
2

3

Follow the procedure in Before working inside your computer.
Remove the:
a Removing the SIM tray — WWAN models
b base cover
c battery
To remove the memory module:
a Pry apart the memory module latches until the memory module pops out [1].
b Lift and remove the memory module from the system board [2].



Installing the memory module

1 Insert the memory module into its connector at a 30 degree angle until the contacts are fully seated into the slot. Then, press the
module until the clips secure the memory module.

2 Install the:

a battery
b base cover

3 Follow the procedure in After working inside your computer.



Power button board

Removing power button board

1 Follow the procedure in Before working inside your computer.

2 Remove the:
a Removing the SIM tray — WWAN models

base cover

battery

Hard disk

System fan

VGA board

3 Toremove the power button board:
a Disconnect the power button board cable from its connector on the system board [1] and peel the adhesive to release it [2].
b Remove the M2x2 screw that secures the power button board to the system [3].
c Slightly pull and lift the power button board from the system [4].

- ® O O T

Installing power button board

1 Place the power button board in its slot to secure it under the metal clip.
2 Tighten the M2x2 screw that secures the power button board to the system.

3 Secure the adhesive-backed power button board cable to the system and then connect the cable to its connector on the system
board.

|



4 Install the:

a VGA board
b system fan
¢ hard disk
d battery

e base cover

f  SIM tray (WWAM models)
5  Follow the procedure in After working inside your computer.

Heat sink

Removing the heatsink

1 Follow the procedure in Before working inside your computer.
2 Remove the:

a base cover
b battery

3  Toremove the heatsink:

a Loosen the 4 M2.5x2.5 captive screws that secure the heatsink to the computer [1], and then remove another 3 M2x3 screws
1o release it from the system [2].

® | NOTE: Remove the heat sink screws in sequential order as indicated on the heat-sink.

4

b Lift the heatsink away from the computer [2].



Installing the heatsink

1 Insert the heatsink into the slot on the computer.
2 Tighten the M2.5x2.5 screws and replace the three M2x3 screws to secure the heatsink to the computer.

®| NOTE: Tighten the heat sink screws in sequential order as indicated on the heat-sink.
3 Install the:

a battery
b base cover

4 Follow the procedure in After working inside your computer.

System Fan

Removing the system fan

1 Follow the procedure in Before working inside your computer.
2 Remove the:

a base cover

b battery

3  Toremove the system fan:

a Unroute the eDP cable from its routing channel on the system fan [1] and disconnect the system fan cable from its connector on
the system board [2].



b Remove the 2 M2.5x5 screws that secure the fan to the computer [1] and lift the fan off the computer [2].

Installing the system fan

1 Place the fan on the computer.
2 Tighten the 2 M2.5x5 screws to secure the fan to the computer.



Connect the fan cable to the system board.
4 Route the eDP cable through its routing channel on the system fan.

®

NOTE: Display cable should be routed above the WWAN antennas (for models shipped with a WWAN card), and then
secured with conductive tape on the palm rest.

5 Install the:

a battery
b base cover

6  Follow the procedure in After working inside your computer.

SATA Solid State Drive (SSD)

Removing the SSD card

1 Follow the procedure in Before working inside your computer.
2 Remove the:

a base cover
b battery

3 Toremove the Solid State Drive (SSD) card:

a Remove the single (M2x3) screw that secures the SSD to the system [1].
b Slide and lift the SSD from the system [2].




Installing the SSD card

1 Insert the SSD card into its slot on the system.
2 Replace the single (M2x3) screw that secures the SSD card to the system.
3 Install the: .

a battery
b base cover

4 Follow the procedure in After working inside your computer.

Hard drive

Removing the hard disk drive

1 Follow the procedure in Before working inside your computer.
2 Remove the:
a Removing the SIM tray — WWAN models
b base cover
c battery
3 Toremove the hard disk drive (HDD):
a Disconnect the HDD cable from the system board [1].
b Peel the adhesive tape that secures the HDD cable to the system board [2]

¢ Remove the 4 M2.0x5.5 screws that secure the HDD to the palmrest [1].
d Lift the HDD from the computer [2].



4

5

28

Then, remove the M3x3 screws to detach the bracket from the HDD.

| Removing and installing components



6  Lift the HDD bracket to remove it from the HDD.

Installing the hard disk drive

Tighten the M3xL3 screws that secure the bracket to the HDD.
Connect the HDD cable interposer.

Insert the HDD into the connector on the computer.

Tighten the 4 M2.0x5.5 screws to secure the HDD to the computer.

Removing and installing components | 29

DN -



5 Route the hard drive cable underneath the bottom-right corner of the hard drive bracket and affix the adhesive tape to secure the
hard drive cable to the system board.

Connect the HDD cable to the system board.
7 Install the:

a battery
b base cover

8  Follow the procedure in After working inside your computer.

Input-Output board

Removing the Input-Output board

1 Follow the procedure in Before working inside your computer.
2 Remove the:

a base cover

b battery

C speaker

3 Toremove the Input-Output (I/0) board:
a Disconnect the I/0 board cable [1], peel the adhesive tape that secures the /0 cable to the system [2].

b Remove the two M2x3 screws that secure the I/0 board to the system [1] and lift the 1/0 board off the palmrest [2].



Installing the Input-Output board

Place the Input-Output (1/0) board into its slot on the palmrest.
Replace the M2x3 screws to secure the I/0 board to the palmrest.
Connect the |/0 board cable to its connector on the system board.

DN -

Install the:

a speaker
b battery
Cc base cover

5  Follow the procedure in After working inside your computer

Fingerprint reader — optional

Removing the fingerprint reader

1 Follow the proced